R7.4.6
BT =Ra—h

F24m - 5 TR
[ZU—n#]
A=Y
1 2 3 B & JE iz
1 FRY57 3-0 3-0 2-0 1
2 BRE AL 0-3 3-0 1-1 2
3 79 R 0-3 0-3 0-2 3
BY—J
1 2 3 B & JE fir
1 T7598—X 1-2 2-1 1-1 2
2 ~NEAX 2-1 2-1 2-0 1
3 NEO 1-2 1-2 0-2 3
cy—oJ
1 2 3 4 B K B {5
1 LAY R 0-3 1-2 2-1 2-1 3
2 FINE 3-0 3-0 3-0 3-0 1
3 7ILAX 2-1 0-3 2-1 2-1 2
4 IT7AvY—X 1-2 0-3 1-2 0-3 4
FINE
[RMb—F A2 R]
" _ 2-1 "
A-1L ERYST C-14f FINE
FErRYFI FINE
3-0 3-0
B-1f ~RE4SX LL BALL
[FHIb—FA2FR]
=
FIL14X
75vi8—X
T7UIR
7598 —X
3-0
I5vi8—X
ILARHBR 7598 —X
3-0
NEO
2-1
NEO
NEO
3-0
T74v¥—=X




